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2-3 (1) IR

m 3R
- ANARY X = (xy,xp,..,%,) 1BU (xq,%,..,x, EZ)
- B XEREIDFRINEICERNZ L

BRI E LTS 7L XL
> —ODEDKITDLEEL TR R L THEEL

(v %4 2 5kl O
m E>V—k(bin sort, bucket sort)
- BMONBEV (B, \TY)ZAEBEL, #HZ2ziIRY D 1T5

3132123

EVHARAE T SIS AR
1 2 3 AIET —INIFGEICIIREE L

o J
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INTILY — K (bubble sort)

m B2 LoBET — Y R
- BIIL T\ W (KD EL TV W) 05 [F X

o EEH 2 = 0(n?)
n

- (Xq1,%5, X3, X4, x5) = (4,2,3,5,1)

42351 23415 23145 21345

@ |

X | X
24351 23415 23145 12345

(k

X | X
23451 23415 21345

| X
234%; 23145
23415
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2/73\/9%/?:* (binary decision tree)

m 2 REAR
- ZHDK(if-then-else) Nk F % X I7
m 7LD X LDENME
- BHOSEICEN DR
- NR=FGnk (H4)

if(xl < xz) then
left-process

-k A -»else
- B ERIHEREO TR " right-process
u Al S endif

(x1,%2,x3) || (1, %3,%2) || (x3,%1,%2) || (X2, %1, %3) || (x2,x3,%1) || (x3,%2,%1)

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L 4



IR ENR (binary decision tree)
m F3BRESTILI) X L

(x1,x2,x3) || (x1,%3,%2) || (x3,%1,%2) || (x2,%x1,x3) || (x2,%3,%1) || (x3, %2, %1)

N7 (xq, x5, x3) = (4,9,5) N (xq, x5, %x3) = (6,5,8)
X1 <x, (4 <9) Xy > x, (6 >5)
Xy > X3 (9 >5) X1 < x3 (6 <8)
x; < x3(4<5) H A (xy, x4, x3) = (5,6,8)

Hjﬂ :(xl,X3,xZ) = (4,5,9)
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INTILY— b (bubble sort)

m f25| LB T — YRR
- BIHL TN W (KM EEZL TV W) 5K :

m LEEREEK

m

- (Xq1,%5, X3, X4, x5) = (4,2,3,5,1)

42357
X
24357
X
2345
2345
X
23415

2022

n(n 1) _ O( 2) .~""=..x2: X3

%?4' 5 %?1 45 2)(1 345
2?1} 5 23)(1 45 12345
23415 21345

X
23145
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%50 R HEO TR

m EIE (Theorem 2.6)
- EEOESTILD) XL QEELE) DT E=13Q(nlogn)
O:ERR -
-nT —IEBITELETILT) I LD2DFEEAR
m FEFEE=5Tk = ERIg~2k (~[1-2]F#1.9)
- ANAFDEH# (BF]) DFREN!
m BREBRIIDLLKEHTIEIZEIIZINS
m 2F >n!
m k>log,(n!) =0(nlogn) (~[2-1]1F%E2.1) m
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P o

2k > B > n!
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%350 R H RO TR

m T (Theorem 2.6)
- EEDES|T7ILT) XL QEELER) DAt E = IdQ(nlogn)

m/\7J)LY/—}
- BFAETEZE0(n?)
v TFEQ(nlogn)%LEEL’(k\fgb\
> FRETEENTREENTSRERT/ILITYXALIR?

—
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=
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—
=
=
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=
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2-3 (2) HHERRE

m FFERRE
- A7
m BILERIX = (x1, %2, ., Xp)
T XL SX =S X
m BSILERIY = (y,y2 0 ¥q)

S Y1ISY2= =Y,
- B[
m XYYZHELEEILEZRINZ = (21,29, ..., 2,) THEEL L
- {xlxeX}+{ylyey}r=1{zlze z}

- Z]_SZzS”'SZn
- {fBL n=p+gq

X 3]4/|6]10 Y 516|812

\ J
Y

Z|3[4]5]66/|810]12
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HAE7ILTY L,

m Algorithm 2.2 (&)

- N EEFILEX = (xg, %0 %), Y = (Y1, Y2, 0 Vg)
- BABINLZ = (2,25, ..., Z1)
Set i=0,j=0k=12xp,4 =00,yg41 =0

Step 0:
Step 1:
Step 2:

Step 3:
Step 4.

If i+j=mn then output (z,,2,,..,2,), and halt
If xi41 <yj+1 then set z, = x4, and i =i+1,
and go to Step 4

Set z, =yj4q and j=j+1
Set k=k+1 and return to Step 1

m Example:

X

i+1 1

2022

Zp = Xitq
i=i+1

k=k+1

3416|1000 Y 0 12 |
. j+1 1
Y J
Z |34 ]5]6]638 1012
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1#/’3(Me rging)

m 72 (Lemma 2.1)

- & (Algorithm 2.2) 13t &I EnE O EEEL THEL

O EEEAH
- ZIZkFEBICIWAOGNSGE Rz, € Z

m XFARYDOEBERT,ZHTEELLVWIEIZEALH
- IOk + 1B BURRI 2, LYNSWBEDBFHELRVWIEERT

m 2 di=q,j=BREEIZICMALNILETS

- k=a+ B+ zx SXgp1 SXap2 S S Xy, Zg SYpr1 S Vg2 S S Vg

m 2 € (Xgi1, Xqr2 o0 Xpy Vg1, Yotz 0 V) (VI>k +1)

m oz, <z (VI>k+1)
- FEOKTKRY LD
m 7z, <z, < <z, (ZIZET))

- B BBIRT DY Fxiy Yy B R (ZAUXSMIELER L)

vV nEIOLLE =

X[ 3/14)6]|10]|00

Y

Tokyo Tech

5

6

12

Z 13145

6

6

8

10

12
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1# B (Me rging)

m EIE (Theorem 2.7)

- & (Algorithm 2.2) I3 ERIZEE
SR BF e CREL
O ZEEA
- IEHM L @A 1LY
- BFRIETEE: 0(n)
m Algorithm 2.2 (&)
- NBEFILFX = (%1, %0, %), Y = (Y1, Y2, ) Vg)

- BAEINLZ = (2,25, ..., 21)
Step 0: Set i=0,j=0,k=1,x,41 =00,y541 = © 0(1)

Step 1: If i+j=n then output (z,,2, ..,2,), and halt o@) | #HA:0m)
Step 2: If x41 <yj+1 then set zx =x;44 and i =i+1, o)

and go to Step 4 - nE
Step 3: Set z, =yj4, and j=j+1 0(1)
Step 4: Set k=k+1 and return to Step T 0(1) |

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L | 2



2-3 (3) HEEIT7ILT)X L

m 73| RRE

- A7

PRIX = (xq,xp, 00, X))

- AR X2 REXORIBICHERD AL

m Algorithm 2.3 (f#&%7%))
- AARHAL] = (a, aiyeq ...,aj)
- Hjﬁ :A[l]]%§é§ULf:%§UZ[l]] = (ZilZi+1l ...,Zj)

Step 0:
Step 1:
Step 2:

Step 3:

Step 4:

If i >j, then output Ali:i], and halt

set k = [”’;1

Apply HE%5%(2.3) to A[i:k]

and store output in X[i:k]

Apply HH&%2%1(2.3) to Alk + 1:/]
and store output in Y[k + 1:/]

Aoply 6#86(2.2) to X = X[i:k],Y = Y[k + 1:/]
and store output in Z[i:j], and halt

> BIRMIZARTD2DE| %48 3RT

> BI|ILI2R 5 HE
m RIUXIZECT A& AN
- A = A[l:n] = (A[1], A[2], ..., A[n])

2022

BL (x,%9,..,%X, € Z)

X = A2.3(A[i: k])

Y = A2.3(A[k + 1:])

7:=A2.2(X,Y)

Tokyo Tech
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HAEZ|7ILTY) LI
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2022

Tokyo Tech

Y == A2.3(A[k + 1:/])
Z:=A22(X,Y)

m Algorithm 2.3 (f&%7))
- ANARFAL:] = (a5, 0044, -, 95)
- thjj IA[!]]’fE%?ULf:%?UZ[I]J = (Zf,ZH_l,...,Zj‘)

Step 0: If i =j, then output A[i:i], and halt

0 _ |i+j-1
Step 1: set k= > ]

Step 2: Apply BHt&%31(2.3) to Afi:k]
and store output In X[i:k]

Step 3: Apply BH&%31(2.3) to Afk + 1:]]
and store output in Y[k 1:]]

Step 4: Apply #f&(2.2) to X = X[i:k],Y = Y[k + 1:/]
and store output in Z[i:j], and halt

MEEAEE Y 7L T XL (2-3) E5|7ILT) XA | 4



HEZFT7ILT) XL (Merge Sort)

m T (Theorem 2.8)
- HEEF (Algorithm 2. 3) X RIRE % 0(nlogn) THE<
O :EBA
- EHM D EIE2, 1LY
n BIROIZ2DBILESNSGRIIDORIIIES LTS
m & (Algorithm 2. 2)IFIELKHELES LR %155
- FFREETEE:
m T(n) @ HEEHTILIYZL2.I3DERHHEE
v T(m)=001)+0)+T("/D+TU"/:]) +0n)
v T(1)=0(1)
m Algorithm 2.3 (f#&%73))
- AN RFIAL:] = (ai, a4, - a5)
- WAALIEBIILERBNZ] ] = (21,244, -, 7))

Step 0: If i >, then output A[i:i], and halt 0(1)
Step 1: set k=‘[i+’2'_1j | 0(1)
A g Stare ot n (/)
s 5 oy BERRGD AL, T

Step 41 Apply #+&(2.2) to X =X[i:klY =Y[k+1:j]  Q(n)
and store output in Z[i:j], and halt

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L

Y = A2.3(A[k + 1:])
Z:=A22(X,Y)
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1#/_‘:}% 517 ) L3) XL (Merge Sort)

m TIE (Theorem 2.8)
- HEE5|(Algorithm 2.3) I3E 3 RIRE % 0(nlogn) THE<
O ZEEA(DD %)

- T(n) =0(1)+0) +T"/2D+TU"/21) +0m)

=T("/D +T"/21) +0®) SRS
- p= z[logz nj
X = A2.3(A[i: k])
m n<p<2np=0(n) Y = A2.3(A[k + 1:])
7= A2.2(X,Y)
- T(n)
<T(P/.D) + T(UP/2) + 0(p)
p p cp
= 2T (5) tcp <2 (ZT (z) + 7) +cp s Algorithm 2.3 (Bte%51)
—2%X2XT (2) + cp + cp - ANARIAlL] = (ai,aiﬂ,...,aj)
4 - WAL IR BRI RFZ]E ] = (20 Zig1, 0 7))
<2X2XX2XT(1)+cp+cp+--+cp Step 0: If i>j, then output A[i:i], and halt
= 21°82PT(1) + cplog, p Step 1 set k = |22
— Step 2: Apply H#E%%1(2.3) t
- pT(l) +cplogz p P PPy and stoﬁe oatpﬁtAl[E X[i: k]
=0(p) + O(plogp) Step 3: Apply HHREF1(2.3) to Afk + 1:]]
_ 1 and store output in Y[k + 1:/]
=0(n Ogn) u Step 4: Apply ##&(2.2) to X = X[i:k],Y = Y[k + 1:]]
and store output in Z[i:j], and halt
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HEE7ILT) X LDEEE

n T(n) ~2K.0(5)++2-0(3)+1-0(n)
~0(n) + - +'O(n) + 0(n) = O(nlogn)

log, n
| I
L I\ | | X = A2.3(A[i: k])
il = A2. 1
— A& | | [z
| | | | | | | | | “
Z
CLC L LT T T T T T T T T T 17 ()
[;ng%//n|||||||||||||||||||||||||u BEROBEBRNE
v v S S N Ny N N N N N N N N~
C T T T T T T T T T T T T T 1] 2xoz)=o0m
M~ ~—~— N~ N~ M~ M~ N~ N~ : .
| | | | | | | | | : :
—~ —~ ~~ ~~ 4x0(n/4) =0(n)
| | | | |
— ~ ~~ 2x0(n/2) =0(n)
H A\ [ |
1#\:1 =~ 1x 0(n) =0
—— L

EX ¥k ~ log, n
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27—V — b (merge sort)

m B LA HE
n AT EZ0(nlogn)

m 5

- (X1, %5, X3, X4, x5) = (4,2,3,5,1)

BB G 1) @4)(135)

25 GG (1)(24)(35)

24 3) (15

24 (1) @G (123 D)
(

2022

(24) (135)

12) (4) (35)
%

12345)

ey 7LD XL (2-3) 5| 7LD A
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INTILY — B (bubble sort)

m fo EOBEEE T — YRR
m BFfETHEE0(n?)

m 5

- (X1, %5, X3, X4, x5) = (4,2,3,5,1)

2022

42357
X
24351
X
2345
2345
X
23415

%?4'5 %?145 2)(1345
2%1}'5 23)(145 12345
23@; 5 21345

23145

ey 7LD XL (2-3) 5| 7LD A
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INTILY — B (bubble sort)

m fo EOBEEE T — YRR
m BFfETHEE0(n?)

m 5

- (x1,%5, X3, X4, x5) = (4,1,3,5,2)

2022

41352
X
14352
X
1345
13452
X
13425

| | X
'3%25 12345
13245

FICLEE 2R VIRTZrHY=TT&

A B ALER ¥ AR M (S L

]?425 ]?245 ]%345
13425 13245 12345

(x2» X5, X3, X1, x4)

ey 7LD XL (2-3) 5| 7LD A
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INTILY — B (bubble sort)

m fo EOBEEE T — YRR
m BFfETHEE0(n?)

m 5

B (x1'x21x3) — (411)5)

415 145
X

1Z|l? 145
145

(xlerrxS) (_' ) _) (x11x31x2) (X3,x1, xz) (x21x11x3) (_, ) _)

W BT =9 THREELLWVWELHS
EERLHRLAEENTIMTCISERTESLEDLY

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L
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°/>7°/b‘/— I (simple sort) (BEV—b)

m KB DRIZLELEE DA REAR
m BFFREIETE=E0(n?)

m 5

- (x1,%5, X3, X4, x5) = (4,1,3,5,2)

4 35)(2 2 3|Z|15 21345 21345
2 3EI'>ZIl 2 3|Z|15 2'I 3|45 12345
2 3EI'>ZIl 2 3IZ|15 21345

2 35)? 21345

21345

(xZ' X5, X3, X1, .'X.'4,)
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°/>7°)b‘/— |\ (simple sort) (BEV—K)

m KD DRI YR
m BFfETHEE0(n?)

m 5

- (xl, X2, X3,Xy, xs) — (3,1,3,5,2)

.
,
,
,
,

2022

352

X
5
5
353

X
335

N
> #,5 21335
21335

ZEMLL
R% 57— 9 DIERFH
REINGW

2'$3|5 21335 2)(1335
335 2'|3|35 12335

(x2' X5, X3, X1, X4,)

ey 7LD XL (2-3) 5| 7LD A
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|77 )L T') X La(sorting)

m R T7ILTY) X L
H#Fﬁﬁu-l'ﬁi
- EHEE=E
- ZEM
- W5 DA M
- T—Y9 BT — I D
m KB 7I/ILTY X L0(nlogn)
- &3 (Merge Sort)
- E—7"/— F(Heap Sort)
m JERE 7L T L
- 747 —F(Quick Sort)
m 0(n?)
m FIIHEEIXO(nlogn)
- /N7 LY — M (Bubble Sort)
m 0(n?)

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L

24



2022 MEEEr7ILTY XL (2-3) BH7ILT) X L 25



— ° SH Tokyo Tech
E— 7 (heap) {3 ‘
E —7K
- THROE T TFoE) LY /PhEWHZFEL W
v FROEIZR/IME g
- Be S CER A4 > KO®Th = llog;n
v 7KL Ra = F7FLR2a, 2a+1
H7RLANSFTRLRAE

1:7?

g = A1V T
+1 = mE = FTAEYrETIC

216 3
FTRLRD ST RLREE
RE (61E)
= B1EYFTE
4: 9 5: 8 6: 7 715
VINEE

KIS NN e
heap&ic?| : h[1] h[2] h[3] h[4] h[5] h[6] h[7] E< /fff/ =
7-9: [2]6][3]9]8]7]5 R

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L 26



E— 7 (heap) #E38 DAEEE - MEHF

m 7T —9N3EHM (up-heap) : O(logn)
- h[n + 11257 —%:E /o
- FOEL)NITNIERIE = RICEH»->THEYIRT

R =T —I¥n
= RADO&ETh = |log, n|

n=|V|,m=|E|
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E— 7 (heap) #E38 DAEEE - MEHF

m T —9D3ENM (up-heap) : O(logn)
- h[n + 1)\c7 —%3E 10
- FOELYNIIFNIERIE = RICEHS->THEYIRT

n=|V|,m=|E|

m FRDHIFR (down-heap) : O(logn) AB=7—5%n
- E%,Tém:f‘_g%*&,/:*%éﬂ = RKDOGTh = |log, n|
- INTVWFL)KRFIFNIERE > REPLASEICAN->TERYIRT
1:3

REHIR 1k =7

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L 28



E— 7 (heap) B D F| F
> E—7YV—bF 0(nlogn)
- E—TDEE T 0(n) n=|V,m=|E|
. ERloRSRH SIEICdown-heap e
- O(Z{'cz_ol(k - i)zi) =0(n) ““=> ;(;)r_‘f'{,ifhn: l]ogz n|

- T8 %RIBETHA: 0(nlogn)
m BOHIER (down-heap) DHEYIR L
AN 1:7

2:9

3.7

4:0 5: 8 6: 3 7:5

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L



m PRIMES (%= FR578)
- A7
mneEN
B Eﬁ:ﬂ
m nlIEEH?

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L 30



EZHHETILIY T L

m Naive algorithm for PRIMES

- Exhaustive Search

- AN neN

-&E A “Yes” or “No”

Step 0 Set i =2

Step 1: If i>|v/n|, then output “YES” , and halt
Step 2: If i divides n, then output “NO” , and halt
Step 3: Set i =i+ 1, and return to Step 1

> IEX M - BBA
> STHEAEME © 0(Wn)

-zZn7ILTY X‘ALi%IﬁﬁH%Fﬁﬁ?/bj\\u NN
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EROKRES (FER) —

B DREI n|(NHDOKEX
- 1088 &}Rd, d),_, ...dd, (E#I0, d, €{0,1,2,..,9})
n=d, x10"+d,_, x10"1 +...+d, x 10* + d, x 10°
m 5l
- 1892(109) = 1 x 103 + 8 X 10% + 9 x 10 + 2 x 10°
- EREBRD. Db, ... b b, (BE$2 b, €{0,1})
n=b.x28+b._  x2F 1 +..4ph x21 +ph, x 29
m 5l
- 101y = 1x2240x21+1x2%= 54
- 110015 =1Xx2*+1x23+0Xx 2%+ 0 x 21 + 1 x 2% =254,

m BHnlIsEY M TREINS (ZERNIHZE)
- |n] =s =|log,n|+1 = 0(ogn)

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L 32



EZHHETILIY T L

m Naive algorithm for PRIMES

- Exhaustive Search
- AN neN
-HA: “Yes” or “No”
Step 0 Set i =2
Step 1: If i>|v/n|, then output “YES” , and halt
Step 2: If i divides n, then output “NO” , and halt
Step 3: Set i=i+1, and return to Step 1
n : bobe_y ...biby

> :I:Eé 'li , E BA In| = s = 0(logn)
> BTERME ¢ 0(Wn) n=0(2°) = e(2")
-0(/m) = 0(VF) = 0 (2) = 0(z%)
- A -5 —

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L 33



R (REER)

n BRES

- ZOHZABNESYARTHIES
- 3§5'cS,S=S

> N=N\{0}c N

v N= N\ {0}
m HHEfnen+1 BFEE

n O HEHER
- FFABEE, EFHO
- N=(E,0), EcN, OcN
>» N=E, N=O0O
» N=2Ez0=Z=NxN
> IN| =Z] = |E| = [0] = [N X N]
m JERHEHER
> R=2N={S|SSN}%N
- A b—=IL(Cantor) Dt A #RRE
> IN| <|R| = [2VN]

2022 MEEEr7ILTY XL (2-3) BH7ILT) X L
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7’07 S LI HREHN?

m BERZBKII. ENvs 0540 —RTRiRINng
- IRTCOBEAKELRZRTEETOISLZEIIBTETSH?

m VILIPRYNEEST EDEInNIRENNES

-Z"=Zx£xmx2
m AfRENIESINELST

- 2 =U,en 2" =N

m JO75LNEEC; S

- el < 127 = NI = %q

v TR7ZL0WIE EER BIRE N 25| 4T HER

n BARBNLOBAES N> NOEESNY
- IN| < [NV
v BABOEIIIET FEER

> 7O7SLTERTELVWVEENER

2022 ey 7ILTY XL (2-3) 5| 7ILTY A
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Bad Coding Example (1) i

m int ffnum = ff; //(#ff in an input circuit)
m bool CConstGraph::bellmanford( const float period )

1.

© = s W

9.

10.
11.
12.

2022

{

}

CDITIIET|H A X ILEEK

bool visit[ffnum]; < L
for( int i=0; i<ffnum: i++) ffnumE ¥ |$ R 1%

visitlil = false;
for( int start = 0; start < ffnum; ) {
visitlstart] = true;
if( !bellmanford( start, visit, period ) ) return false;
while( ++start < ffnum )
if( lvisit[start] ) break;
}

return true;

> compiler error, warning %L
v INSWTF =Y TENME
v KEWF—%Tsegmentation fault

MEEEr7ILTY XL (2-3) BH7ILT) X L 36



Bad Coding Example (2)

vector<cgFF> cgff;

// Flip Flop
void CConstGraph::addFF( caFF ff ) {
. if(C coff.size() 1= 0 & ( coff.size() % 2000 ) == 0 )
cout << "reading 7 << coff.size() << 7 registers” << endl;
coff. push back( ff );
}
list<cgPath> cgpath;

cgpath. size() DEFFEIETE E0(n)
void CConstGraph::addPath( cgPath pt ) {

7

// FF Path
if( cgpath.size() 1= 0 & ( cgpath.size()

cout << "reading 7 << cgpath.size() <<
cgpath. push _back( pt );

e R R

% 10000 ) ==0)
}

paths” << endl;

BB OERETE=Z0(n) = 0(n?)
> I—FEANDFER, T — JinAA LM
v 10# 91071
v 1o HNEFRE (S
2022 BEUEE L 7LD XL (2-3) R 7LD X L
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Bad Coding Example (3) o

m inline size t stl hash string(const charx s) {

1. unsigned long h = 0;

2 for ( ; % s; ++ s)

B s h s > 7 — 9 EHIN KB

151 } return size t(__h); v wiatel 1BSES
v wyyaBE(a) 2%

n UK v Ny aBE(h) 19

- XN (s) (B%13)
n stl _hash string( s.c_str() );

- (RN xE) (p.first,p.second) URBEICHETLZVERLY)
v
v

N

#%(a)

_ stl_hash_string(p. first.c str())+ stl _hash_string(p. second.c_str());
£ (b)

~stl hash string( (p.first + p.second).c str() );

At
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